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QUESTION 1

Which two elements are valid in the BGP path selection algorithm? (Choose two.) 

A. lowest local preference value 

B. lowest multi-exit discriminator 

C. highest multi-exit discriminator D. highest local preference value 

Correct Answer: BD 

When a Junos device receives two similar route advertisements from different BGP peers, it will select the route will the
lowest MED value. BGP route selection proceeds in this manner: 

Prefer the highest local-preference value 

Prefer the shortest AS-path length 

Prefer the lowest origin value 

Prefer the lowest MED value 

Prefer routes learned from an EBGP peer over an IBGP peer 

Prefer best exit from AS 

For EBGP-receive routes, prefer the current active route: 

otherwise, prefer routes from the peer with the lowest RID 

Prefer paths with the shortest cluster length 

Prefer routes from the peer with the lowest peer ID 

 

QUESTION 2

Which standards-based election protocol facilities redundancy in a LAN environment by eliminating a single point failure
through the use of master and backup routers? 

A. VRRP 

B. BFD 

C. graceful restart 

D. ISSU 

Correct Answer: A 

 

QUESTION 3
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What are three IS-IS PDU types? (Choose three.) 

A. type length value 

B. link-state 

C. partial sequence number 

D. database description 

E. complete sequence number 

Correct Answer: BCE 

 

QUESTION 4

What is required on the egress and ingress devices to transport IPv6 traffic across an IPv4 network? 

A. An IP-IP interface 

B. A TE tunnel interface 

C. A GRE tunnel interface 

D. A 6to 4 tunnel interface 

Correct Answer: C 

 

QUESTION 5

Which two values displayed in the output from the show spanning-tree MSTP configuration command must match on all
switches participating in the same MSTP region? (Choose two) 

A. root bridge identifier 

B. authentication checksum 

C. context identifier 

D. configuration digest 

Correct Answer: CD 
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